Apartment in Swieqi



Reference No: 240251097-629

Swieqi, Sliema and St Julians Surroundings



€310,000

Total Rooms: 6

Bathrooms: 1

Floor Area (m²): 100

Bedrooms: 3

Apartment - For Sale - Swieqi

SWIEQI – First floor Apartment situated in the best part of this village consisting of three bedrooms, separate kitchen, living/dining room, main bathroom and front balcony. Ideal for first time buyers or as an investment for letting due to its location. FREEHOLD

Features

Water Utility

PVC Piping

Back Yard

Electricity Utility

Balcony

Rooms

✓ Kitchen: 3.43 x 3 m (10.29 m2)

Living/Dining: 5.23 x 4.03 m (21.08 m2)

✓ Double Bedroom : 4.87 x 3 m (14.61 m2)

Double Bedroom : 3.1 x 3.1 m (9.61 m2)

✓ Double Bedroom : 3.35 x 3 m (10.05 m2)

✓ Hallway : 4.6 x 1.5 m (6.9 m2)

✓ Bathroom : 2.42 x 1.62 m (3.92 m2)

Open Space : 2.5 x 1 m (2.5 m2)

Gallery





Oscar Bugeja RE/MAX Advantage - Msida

M: 79473138

E: oscarb@remax.com.mt

T: 21222123

RE/MAX Advantage - Msida

Regional Business Centre, Triq Achille Ferris, Msida, Malta